
 

9. Secondary Endpoint: Best Response 2nd -line_ITT Population 
 

Table 9.1: Statistical Analysis - Best Response 2nd Line 
 

ITT Population  
n = 120 

Test 

Statistic p-Value Comment 

Best Response 2nd Line -1.016 0.371 exact Mann-Whitney-U test 

 
 

Figure 9.1: Secondary Endpoint Best Response 2nd Line 
 

 

ITT: Best Response 2nd Line

%

0
2

0
4

0
6

0
8

0
1

0
0

29.17

34.78

45.83

56.52

25

8.7

0 0

Arm A: PD Arm B: PD Arm A: SD Arm B: SD Arm A: PR Arm B: PR Arm A: CR Arm B: CR


